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( Tourism Marketing )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer in short : ‘ 1x10=10
T Beq fora
(a) Write the full form of PLC.
PLC 3 5o o forar 1

(b) Who is a consumer?
m A ? . e e

(c) What is the meaning of quahtatlve data?
QIS O KA R g@n 2 o

(d) What is the meaning of service
marketing? S R
a1 Retem w1es & g 2

(e) Write the full form of ATDC.
ATDC 3 59 =% foran |
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(/ What do you mean by advertising?

.. Rerm o & g2

(g) What is product?
A e |

(h) Who is known as the father’ of travel
agency?
T AER P’ IR IR 2

() How many national parks are in Assam?
TS (IR B S Ay ?

G) Ali-Ai-Ligang festival belongs to which
community?

wf-eE-Riemsr SORG @ SeanSix 2

2. Answer the following :
wore fMAART Teg fore ¢

(a) What do you understand by tour
operator?

I FAEARAIR e B w2
(b) What is demand?
wifZm 6 2
(c) What is data?
ey ¥ |
(d) ‘What do you understand by pricing? |
v e R w2
(e} What is psychological barrier?
e A &2 :

2x5=10

( Continued )

(3)

3. Answer any four of the following :
wors AR R e vif¥br Tew o

(a) Discuss PLC in brief.
PLC ¥ Rt v9¢3 Scams=n <41 |

(b) Write a short note on travel agency of
Assam.

SPTR T RE €S BT B (B o |
(c) Write the importance of market reéearch.
IR SIEIR LY foran o '

(d) Define destination life cycle.

o1& Gl aifemns et o
(e) Write about the major tools of promotion.
TafSq 51 TorraerTR fordt |
() What is distribution?
Re3et e & =2
4. Answer any four of the following : 10x4=40
wore AR R e wiiRbR Teg for -
(a) Write the significance and charagteristics
of service marketing. 5+5=10
el R g9g W sRermR o |
A9/776 . -~ ( Turn Over)
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3 (Sem-6) HIS 1

(p) What do you understand by market

segmentation? What kind of market 20109
strategies should be adopted to develop
the tourism market? 3+7=10
Fe1E o gfoea & g@n 2 ormfoq e [{em HISTORY
PR @A TN TER N Sqerae Al ( General )
Bfts 2
(c) Write the concept and processes of . Paper : 6.1
communication. 5+5=10
STd S -7 (R0 S 2AfdrpTgg, | [ History of India (1857-1947) ]

(d) Discuss the marketing strategy to be
developed for the promotion and
development of a tourist destination like

Full Marks : 80

Time : 3 hours

Assam. 10

TR Ao werS <o Tafs wie RemE crae The figures in the margin indicate full marks
PPl ({9 ITE P ST hal T, for the questions

HICEAS T |

Answer either in English or in Assamese
(e) What is market? Define the role of
tourism of India in the world scenario. 10 1.

Answer the following questions : 1x10=10
a2 g @ERe STt 1oy cwasem SR PR e f
i foran |
fa) Who was the Viceroy of India in 1858?
(f) Discuss the role of travel agency and tour Stret TS SR] SI259 (T SR ?
operators in tourism business. : 10
offoet APTAS TG TF SF Il oD (p) Which Indian Act is also known as the

‘Act for the Better Government of India’?

R SR WZAE SRSq PP @ 1
* & Ak g’ It wieke F91 =1 2

A9—1500/776 3 (Sem—6) TTM (VOC) A9/806
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(2)

() What was Neo-Hinduism?

T-REm & wifke 2

- (d) What was Shuddhi Movement?
B e e 2

(e) When was the Vernacular Press Act
passed"

ST (2R TR (T 57S RS C2fRe 2

() Name the Viceroy who. passed the
. Ancient Monuments Protection Act in
India.

oHee AP T T wWidw gomw @
TIRBEA (T HRE ?

(g) Who was the first President bf | the

Indian National Congress?
TSRO TOW LA A TSRS Iy ifae 2

(h) Name the three members of the Cabinet
- . Mission.

RReG Rees fRfRe=IF st w1 forxt |

(i)

0)

Give short answers :

(3)

Who led the Dandi March?
IS AR CTPF (A T2 IR ?

Who was the founder of Muhammadan-
Anglo Friendship Defence Association?

CIRRCAI - QST @ e qs’f%caw
m%mwr&a"

L

2x5=10

w3 Ted fa

(a)

(b)

(c)

( Continued ) A9/806

Mention two significant provisions of .
the Indian Councils Act, 1861.

SRSy FORE SEH, Srod3 oI S T
TrEY 90

Mention two provisions of the Factories
Act of 1881.
>w>m—ﬁmww§%wwimm
R Tmy 70

Mention two motives of tl:l,e British
behind the establishment of Local

Bodies in India.

—H—WWWWW
wW@WWW!

( Turn Over )



(4) (5)

(d) Mention two significant causes which (d) Home Rule Movement
led to the rise of militant nationalism
in India. A= SACHE
" SRS T GORORMY TWE 1o Srar Ay '
' ::?l e ™ I (e) Sir Syed Ahmed Khan

B (53 SRAT 4

(e) Who organized the Azad Hind Fauz? :
What were its objectives? (0 Pandu Congress, 1926
S R @ e wofde wRfEEr WR o NG ICAZ, S50

Tz R it 2

(g9 Quit India Movement Resolution,

3. Write short notes on any four of the 8th August, 1942

following : 5x4=20 ! SRS SIS AT 2ABE, b SFB, 58
e AT R e wifker 5 Gret forey - | .
(h) Cripps Mission
(a) Role of Indian reformers of the 19th fapore Tt
- Century in the emancipation of women ]
SO TR cvqe TReT e SwE- | L ' |
g oF ° N T . 4. Answer any four of the following : 10x4=40
‘ Tore fMAARE R e sioR Teq fin :
Indi iati 1
(b) Indian Association (@) What was Queen ~ Victoria’s
SIS b’ focas ‘ Proclamation? Were all the promises
i : made in the Proclamation carried out?
: \(c) Split of the Indian National Congress ‘ : ¥ RFRIR @RTeE & wifts 7 @Raeae
- in 1907 Sy T OREIER  ofesfs IR
3504 TS SREN WO IR Rorem e ?

A9/806 ( Continued ) | A9/806 ( Turn Over )



(b)

(c)

(d

(e)

A9/806

(6)

Briefly describe the reforms introduced
by Lord Ripon in India.

atﬁﬂm—ﬁ—mwvrmﬁm
w?ﬁa‘f-'naWI

What were the teachings of Dayananda
Saraswati? How did he contribute to
the growth of nationalism in the minds
of Indian people?

AT SRFeR Pz & wifte o oS

FPHRE TTO (@FAd (08 SomeRT
SRYRE Stus IRI ke 2

Why was Indian National Army (INA)
formed? What were its contributions to
the Freedom Movement of India?

9 e WY (INA) 5 31 Safee 2
SRSy FAOl WCMES INAY SR
w12 2

What were the causes that led to the
Partition of Bengal in 19057 What
were its results? Why was it cancelled
in 1911?

svoe v T RS T w2
e Fomeerir & wfs? R @
353 50 3 e @ 391 3fXe 2

( Continued ) A9—15*/806

|

(9)

(7))

What circumstances led to the
formation of the Indian National
Congress in 1885? Describe its
achievements during the period 1885
to 1905.

3 RS Svre O SROW TOR IR
spm Fq1 CTRA? dvre—dvoe R SRS
SR WoH T IreErI «fb R
foa o

Discuss briefly the role of women in
the Freedom Struggle of India.

SHed FRMEl e TRepwer g
wifeet, SYLF SACEOA P40

* kK
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HISTORY
( General )

I . Paper : 6:2

l ' !
‘ Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
_for the questions

Answer either in English or in Assamese

1. Answer the following questions in 1 word or

in 1 sentence each : . 1x10=10
Toe A1 TR ofr TeT @bl = 37 @bt IS
forar e

(a) Why is the year 1826 CE important in
the history of Assam?

o3 BACH ST 98 IR R w2
(b) Who was David Scott?
CofST 26 @1 i 2

. A9/807 ( Turn Over )
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ah 0 (2)

(¢) What was ‘Gamati’ in Assam?

PG ‘T’ 3 wnfde 2

‘ {d) Who was Gomdhar Konwar?

CINR (T @ et 2

(e) Who was 'Tirdt-‘Singh?‘

0

)

| . A9/807

(9

4% Bk o e 2

Maniram Dewan.

AR R e STz T e |

of one associate of

When did the Phulaguri Peas .
take place? gurl Peasant Uprising

T8993 Rearz cofom sl e 2
When was ‘Orunod01 .

the monthil
magazine published? , y

:;“;@’memm—mw

( Continued ) ! A9/807

i

(3)

Who did take the initiative to form the
Jorhat Sarvajanik Sabha? :
QARES STHERE TS R CFIS (A SIS
iR 2 '

Who was the first Chief Minister of
Assam after the independence of India?

oS AR AR S SRR 2w TR W
et 2

2. Answer the following questions in brief : 2x5=10

wers fir eppigel o T fiown

(a) For administrative convenience, what

were the two divisions in which Assam
was partitioned by the British?

Wqﬁmmmwﬁsﬁs@r—rm
froe IRMRA 2

(b) Write the names of the two tea gardens of

Maniram Dewan.

T CRR B1E AR T A o o

( Turn Over )



(4) (5)

(c) Name two members of the Gopinath { (c) Lakshminath Bezbarua

Bordoloi’s Ministry _
| (IR TR FETER T T T B | | TR T

(d) When was the first session of the Assam (d) Indian National Congress Session at
Association held and who was the first Pandu, 1926 CE

_,_ g Geﬁéfa{ Seci'qtary of the Association? ,‘ SO SO TR >5%0 F Y SRPH
L TRPBAGT 2Iew ST F'S SFH 41 o3RA |
HF TR YR FAYRT T0E FH e 2

I

! (e) Grouping Plan

(e) Write the names of two martyrs of Assam | PR O
in 1942 CE.

; oo Y8R T SPTNE YSRI WRWE AW foray |
. E () Female education in Assam under the

3 ‘ British rule

| 3. Write short notes on any four of the R *PReETS S HRAR P WwE
; following : : 5x4=20
e R e wikbr vy Gt o -
! (a) Effects of the Revolt of 1857 in Assam | - Answer any four of the following questionslz)x4=4o
SRS Steq e RETA HOR T e <P R T SIRGR e ot :
a) What steps did David Scott adopt for the
(b) - Peasant Uprising of Patharughat in administration of Assam?
1894 CE
A P IRER IR oS FH R R
Srd8 B YT I§¢ Rear | oo LA 7 mEm

A9/807 - ( Continued ) 19/807 ( Turn Over )




(b)

(6)

Why was Purandar Simha restored to
Upper Assam and why was his kingdom
annexed by the British five years later?

TR P P R SulR oo sErm

 3Rfer o v 7 Pree (ot T ez R

()

(d)

(e)

A9/807

ez TRfRE 2

Discuss briefly the anti-British uprisings
in colonial Assam (1826-1830 CE).

SrRb-dro0 TE et St ww@
AEbe @ My Rea® Sure Rwan o33
ST F41 |

Discuss briefly the annexation of Cachar
by the British.

o IR SRz ey syt Scesat 41 |

Give an account of the factors
responsible for the growth of national
consciousness in Assam under the
British rule.

= PR TS HOW R RerE
FRPYI @it [igger faan |

(Continﬂ'ea" A9—15+/807

)

(9)

(h

(7))

Briefly discuss the role of Assam in the
Non-Cooperation Movement of 1921 CE.
553> T TPIRCAIS SCHTTS ST P SYLF
AT 91 1

Briefly discuss the role of Assamese
women in the freedom struggle of India.
SReY FRMOl SO S WReE ofiw
FOE TP oA 0 |

Give an account of the economy and
industrial progress in Assam under the

British rule.
Mg wEEEE IR W@ W S
RerR eoge ft 31 faam

% & *

3 (Sem~6) HIS 2
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3 (Sem-6) EDN 1

EDUCATION
( General )

Paper : 6.1

( Educational Technology )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following questions :

SO PP B o

Write the meaning of the word ‘Techno’. 1
‘Techno’ ¥ &Y fodr |

Write True or False :
w% @ o o :

1x2=2

() Teachingis a social and professional

activity.

fremm (R 9T TR WE RS

gl

( Turn Over )




kil

(2)
| (3)
!
(i) Teaching aids help in utilization of ) .. g s s
senses which makes learning more (iv) Trainingof ___ skill is given to the
permanent. teacher trainee in one micro-
! teaching class.
G S SR SR AL PR @b e e ofredie
R I TR FoT6 Frmd it Tl =7 | ) A ©
| ol SI3 FRIA afrm fom =
' (v) Instructional technology is based
(c) Fill in the blanks : 1x7=" upon approach.
N B [T 1 : | Pt R SSom
: {RIR 8oFS AfSPw |
. -
) - The word Technology’ is derived (vi) The word ‘Communication’ has been
froma_____ word. originated from th word
9 *{1 BeT (R | ®AN ‘Communis’ *¥ *[I

‘Communication’ *RioR T8q (TR

(i

(iti)

A9/622

The first phase of teaching is called
as

Preme ofemR o s =
CPIT = |

Behavioural technology
important component of

R offem I a3 @weed
el |

is the

(vii)

In India, facility was launched
by BSNL on August 15, 1995.

SRS 3 3Ry BSNL-9 35d¢
T Se RS WIS IR |

2. Answer the following questions briefly : 2x5=10
T PR BYLF BT o

(a) Write two uses of educational technology.

v oRfEReR 151 IR for |

( Continueq

1A9/622

( Turn Over )



(4) | (5)
(b) Write two characteristics of teaching () Application of micro-teaching in
technology. education
P agfefieame wo1 Cafiey foran | e SR S
(c) Write the meaning of behavioural N
~ technology. ; (d) Elements of instructional technology
RIS 2R S for | ATt eRfRerd SRR

(d) Mention the types of communication.

TR PR BTy 40 |

(e) Nature of communication
, @AIR 23S
(e) What is ‘teaching aids’®

PIFTHIT SgfermR 2 () Characteristics of teaching aids
R gl MBI
3. Write short notes on any four of the
Wfouoviﬁ?é';a Sx4=2 4. (@) Write the characteristics and nature of
1 R e v o5 o foran - educational technology. 6+4=10
(a) Macro-level objectives of educational tiftes egfReReR e T ol fora 1
technology
1P sRfeRers TRe SorPz ‘ Or/9Rl
| Explain the meaning and different stages
. (b) Exp th d diffi
(b) Principles of teaching technology of teaching technology. 4+6=10
P sRfeRe Mz 1 e eRfeReEmy oy W freree Rfte w1
o RN 0

A9/622 ( cOnﬁnuedh_; A9/622 ( Turn Over )




5. (a)

(b)

6. (a)

(b)

7. (@)

A9/622

( 6)
Enumerate the merits and demerits of

micro-teaching. S5+5=10

G 89 AF (TR BoE) 41 |
| Or/ WAl

Write the objectives of instructional
technology. 10¢

et agfefiemy SR o | j

State the communication process. 10
CTICI AfFRT FTofCE 36T =1 |

Or/SR_T1

Discuss the projected and non-projected

ACFATAF WF FACHITL Frpmme Sigfy
S9CE SCEO 9 |

What is system approach? Describe the
characteristics of system approach. 4+6=1Q

‘more e 7 omfeae SR
(AfBPRER 3ot fan o

( Continued )

i

"
et
il

A9—55*/622

(7))

Or/q1

(b) Discuss the different uses of computer

in education. 10

frere FPATHRT RS IR S=od Scamn
F

* % %

3 (Sem-6) EDN 1
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EDUCATION
( General )

Paper : 6.2

( Environmental and Population Education )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :
1x10=10

A T 4909 So9 PpTYRT B ford
(a) Give the word meaning of ‘Ecology’.

‘Ecology’3 */ o1 &ef foral |

(b) Mention one example of man-made
environment.

‘» TR ARCTR b1 Tt faat |
}A9/ 623 ‘ ( Turn Over )



(2) (3)

(h) The World Population Day is observed on
( Fill in the blank )

ﬁmwmﬁaﬁ | OIReY A I =W |
( 4R X 97T )

(0 Who was the father of population
education?

PRy P O M sifRe 2

(d) Mention one factor of water pollution. () The theme of the World Environment Day

AN A LB FRE T 4 | ! of 2018 was

( Fill in the blank )

305y R Ry Rt iR @ Ren wifes

(e} In which year was the first National

|
Population Policy in India declared? | | ( AR 3% 7 T )
| SR} SO PR MO AWRI AR oM |
AR 91 CfRe 2 % (i) In which year was Stockholm Conference
held?
() Quality of life and population growth BT TR @ TS SIS F41 (2F ?

both are related to each other. |
( Write True or False)

G @S TN WF TR I TG R | 5. Answer the following questions in brief : 2x5=10

wts1s 1 i | (o= 1 =9 ) o TR B B o
(a) Mention two impacts of ozone layer
(9) Too much use of fossil fuel is responsible | depletion.
for environmental pollution.
( Write True or False) | e B4 IR 01 e eEd 0 |

|

i (b) Write two consequences of population
Sara e STl IR AR AER I growth in India.
wa | (% 1 TT ) SRS TR IR o1 RS Frr |

A9/623 ( Turn Over )
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(4)

() Write two principles of curriculum
construction for population education.

SR PP #M105 2FeFIR 751 M e o

(d) Mention two relationships of man and
environment.

TR W S A1 701 37 S 1 |

(e) Write two advantages
management education.

yedist e B 161 3R B o

of disaster

3. Write short notes on (any Soun :

oY ot foran (R cecen wilRb)

(a) Importance of environmental education

R PreR gy

(b) Causes of environmental degradation

AR ST RS

(c) Disaster management cycle

T 2 b

5X4:=2J'}

|
!
|
i
'
i
|
i

( Continued, A9/623

(S)

(d) Teaching aids in population education

SR PR e il

(e) Impact of economic development on
population

FPRYR 89430 AT RIrE dor

(N Types of environmental stressors

e o1 R sz

. Define environmental education. Discuss the

major objectives of environmental education.
3+7=10

o PrerR e 7 | +ifdeet P o SR
AT 4T |

Or/ 4

What is environmental awareness?
Enumerate the role of non-formal education
in creating environmental awareness and
attitudinal changes. 2+8=10

s FEeret 1§ 2 «if i sEnerel R Wi TreR
sRgdTe TP PR ofier Ry sicsman
31

( Turn Over )



!
3
S. What are the sources of ‘environmental
1
[
i
Pl

6. What is population education? Write the need

(6)

education’ at formal education? How can
environmental education be imparted at
primary level? 5+5=1@

R P ‘ofcel Pt Sormr R R
P a1 rfiws R Fe @emeE @77 <R 2

Or/S41

What is environmental pollution? Discuss '
the problems of environmental education |
in Assam. 4+6=1g
Reet o B2 e R Frem FPIemg
ST 97 |

|
A

and importance of population education. i
4+4+6= ld

TR e 0 e PreR dareanel ww
BFR ey forn ;

Or/o<1

What are the causes of population explosion |
in India? Suggest some measures to control l

population explosion. S+5=10
SRES TRy REPRT IRPHE B 7 woRn
R e FR% R 1T SRR |
A9/623 ( Continued )f
I

i

A9—55*/623

(7))

. What is quality of life? Analyze the

relationship between quality of life and
population. 3+7=10

Era et 7 QTR ST S SPRIA
T TR (PR 0

Or/9q1

What are the objectives of population
education at secondary level? Discuss the
role of newspaper and television in population

education. 4+6=10

e AEe PR PeR Stermz R
Sl IS RIS SIF R SR Sl
il

3 (Sem-6) EDN 2
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20109
POLITICAL SCIENCE
( General )
Paper : 6.1
( Public Administration—II )
Full Marks: 80
Time : 3 hours * ™
The figures in the margin indicate full marks
" for the questions -
Answer either in English or in Assamese
1. Answer the following as directed : 1x10=10
et frcares Aot Pt Ses foan
(a) Name the country where there was
the practice of ‘spoils system’.
‘o S[@FR’ INER A6E AFT OO AW
o1
. A9/624 ( Turn Over )



(b) 1(1:1 which year was the Public Service (¢) Under Articles and of the
ommission set i ia? ! - ©
up in Indiaz Constitution of India, the Parliament
TRSH© (@ 5I° CENIF CIal Schs sifys can exercise control over public
C2f%E 2 i expenditure.
1 ' a1 s
(c) The term ‘Promotion’ has been : | (Fill in the blanks)
derived from which Latin word? \ oo WReW ___ EN
T SRR @HG R o o l e A TR @RS T
IO Teq (2R 2 | I SO AR |

' i PIEaIR
(d) “The Budget is much more than ‘ (Qlﬁ "BW)

a mere estimate of revenue and Q

expenditure.” This was said by : () On which date is Budget presented

. \ in India?
W e T e Sm W . _
T TS s o 17 2 T | reTe (@ IRt ACEH - FAGTS WA
) | FAA?
(i) White | ,
CZIZH | | (g) Write one  characteristic  of
.. ) Development Administration.
(i) Willoughby .
&R | R 2T @1 C3E o 1
(i) Wilson (h) In which year was the Right to
T2 Information (RT) Act passed in
India?
(Choose the correct answer)
i SRS, (FI TS B TR AP A
(o= Techt A Serear) | L T
b s L2

A9/624 ( Continued;), ‘
| A9/624 ( Turn Over )
|



(4)

(i) * Accountability is a prerequisite of
‘good governance.
' (Write True or False)

WSl PP o1 5 |
(3te1 1 oy o)

() Who was the first Lokayukta of
Assam?

Wﬁmmmwﬁ%?

Answer the following questions :

oS Al epcaTed See o S

(@) Mention two types of training. 4
TR 4R ffreed R Seer <

(b) What is Balanced Budget?

(c) Mention two demerits of ‘merit
system’ of recruitment.

IR ‘et 1w’ K51 Cnr STEe T |

(5)
(d) Write two features of bureaucracy.

SRS o1 (I8 STER 34 |

(e) Name two types of accountability.
TRAEOI Yol PR T SraR 341 |

. Write short notes on any jfour of the

following : 5x4=20
wors it R (e BiRGR Raca vy ot fort
(a) Informal training

SRS A

(b) Lokpal in India since 2013
3059 59 “(1%S SRS (FARFI IRE

(c) Role of Civil Service in developing
societies

(d) Development Administration and
Traditional Administration

T SPIPT ST RIS 2P

A9/624 ( Continue

( Turn Over )




(6) (7)

(e) Discuss the powers, functions and
independence of the Union Public
Service Commission of India.

(e) Difference between Single Budge
and Plural Budget

GFF B HF IZ8] ACHHY WSS T
: SReY AW (EIRCEl e Tel, I

budget making.

4. Answer any four of the following : 10><4=J, A Toq I
wors i R e sk T fan | () Discuss the various means. of
Executive Control over Public
(a) Discuss the scope of Development | Administration.
Administration. ‘
f EF PP 8RS IR ERR
RRPPT 2PIPTT <7 o <41 | | RfSn = I Sces 41 | |
|
(b) Discuss the major principles of ' xx
|

ACED AFSFIR ol SR A 7 |

(c) Discuss the importance and
problems of people’s participation in
administration.

NS TP PR SFY AE
I TCE A F4

(d) Write a note on Lokayukta in Assam,

TP PSR eqe «ft (Ol /S 3411 |

A9/624 3 (Sem~6) PSC 1
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POLITICAL SCIENCE
( General )

Paper : 6.2
( Select Constitutions )

Full Marks : 80
Time : 3 hours
The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese .

1. Answer the following questions as directed :
1x10=10

Ao A 490 SoI rPTRe e i

(a) The number of Cantons in Switzerland
is 36 / 26 / 24. '
' (Choose the correct answer)

PRERCASS (T4 RN (TR 0% / b / 18,
(om TeIChr A Bferean)

( Turmm Over )




A9/625

(2)

() Which Chapter of the

Constitution deals with
Fundamental Rights of its citizen?

Chinese
the

R SRR @G SRS STERN qE
(e SFFRTIR JTRRE 391 2 ?

() The Upper House

is <.

of Switzerland

(Fill in the blank)
PXERCAST T CR0R
(X1 37 &7 F1)

STy

(d) There is a multiparty
‘Switzerland.

system in

(Writer True or False)
PRERCESS IR ICF S |
(71 1 g fora)

fe) Name the country in which the
Constitution has introduced Plural
Executive.

mﬁmwﬁwmﬁwmﬁmwmw
= foran |

(g9)

L)

0

{ A9/625

(3)

The tenure of the Vice President of
China is years.

(Fill in the'blank)
T ToRBofs IR ____ =T

(& 3R *[T M)
«Let the hundred flowers blossom, let
the hundred schools of thought

contend.” Who said this?

“qu o geRea frm, R ﬁ@w 2P
F3te A 1 AER @A ¢ ?

China has a Democratic Centralization
Principle. .
(Write True or False)
TS TeET @@Wq IR ANE |
Go1 & g o)

Who is the author of the book, On New
Democracy ?

oOn New Democracy 8391 (FIRF (FH?

The first Constitution of People’s
Republic of China was framed in
1950/1954/1978.

(Choose ‘the correct answer)

sqeEreiEe B gvw Ry IR
2R 5520 />35a8/ 55 TS |

(% Taach! AMfS Bferean)
( Turn Over)



2. Answer the following questions briefly : 2x5=10

(4)

o] SPPTYRS Y e

() Mention the official languages of

: Switzerland.
RO TP SIICIRO! BTy 4 |

(b) Mention " two demerits of Direct
Legislation. ,
orors RIY 87w ITTR TP SCRR TEY 741 |

(c) Mention two qualifications of the Vice
President of China.
B Toraigeifea o1 e Teay 3

{d) Mention two features of Federal Council
of Switzerland. ‘
PRI (A IRARRR 101 R S
91!

(e) Mention two powers given to the

A9/625

Cantons by the Swiss Constitution.

PRERCAST HRMA FOPIRE AT A 0

e TrEd 90|

(S)

3. Write short notes on any jfour of the

following :

5x4=20

oo faraes R e wifkeR o Gl o

(a)

(b)

(c)

(d

(e)

( Continued ) ! A9/625

1

Fundamental Duties of Chinesé Citizen
B TaRe G TSR

Landsgemeinde
G ST

Referendum

sterfac

Local People’s Court of China
B T ST

Judicial Review of Swiss Federal Court

P2% JSAB SMETeR S A

Position of the Vice President of People’s
Republic of China

SIS DT ToRIBARS ot

( Turri Over )



(b)

A9/625

(6)

4. Answer the following questions :
©oTS AT o] e fia
a) Discuss the composition, powers and

functions of the State Council of China.

e B ARTR o, TTO wWE IREA
AT <1 | ’

Or / <1

Discuss the characteristics of Chinese
Judiciary.

B e CaRiErTIR S 31 |

Discuss the role of the Communist
Party of China.

Bt SRR 7o SR T e 394 |
Or / =%l

Explain the main principles of the
Preamble to the Constitution of China,
1982.

33v} 9 B KRR 2BRER o R
AT 1A

Discuss the main characteristics of
the Constitution of Switzerland.

PRERCAGY R Yo CIFBPTER  Scenl
0

( Contin,u‘eg

f

(d

A9—50*/625

(7))

Or / 9d1

Analyze the main features of the Federal
System in Switzerland.

PRERCASY {OBN TR T REPTR
“R{CEE 41 |

Evaluate the role of the Political Parties
in Switzerland.

PRI AT o1 SRPH Jemmaet <1 |
Or / &%l

Discuss various causes of the success
of Direct Democracy in Switzerland.

PXECEGS AOPF TSI FOIOR FRPIR

HICEAoT <97 |

* % %
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3 (Sem—6) SOC 1

20109
SOCIOLOGY
( General )
Paper: 6.1 .
( Sociology in India—1II )
Full Marks : 80 '

Time: 3 hoﬁrs

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer/Choose the correct option :
Teq foral /1w Res! AR Sfevea -
(a) What is the full:forrn of FDA? .
%, . @.-F 7= Foeh1 [ 9
(b) Media is known as
AR/W AT &A1 I
(i) First estate
AYY TS
(ii) Second estate
fa%n ©3
(iij) Third estate
TR T3
(iv) Fourth estate

. | A9/769

1x10=10

( Turn Over )



(c)

(2)

The first multilingual news agency of
India was "

TS AT IZTIRT ISR SIS

(i Samachar

MSf /261 /FAGR
(i) API
€. Proem.
(iii) Hindustan Samachar

e o

(i) Samachar Bharati °

(d)

A9/769

2A51g SRSt

Gauhati University was established in
the year

gz RefRmer Tom t2fRE
(i) 1948
S8 B9
(i) 1949
986 B9
(iii) 1950
Sd¢o NS
(iv) 1951
°5@ S B9

( Continueey |

| A9/769

(3)

(¢) The programme that aims to bring
overall development in the cqinmunity
'in India is called .
SRS (I oA YRE W’ e
AT T I IR D

(i) Sampoorna
Yojana
Fofef M e e

(i) Antyodaya Yojana
ST TS

(i) Indira Gandhi Awas Yojana
(iv) Community
Programme '

Grameen Rozgar

.. Development

() Development refers to the process of

S _ AfeFae oM |

(i) increasing productivity
e B

(i) raising the standards of living
ST TFweT TAlS

(iii) longer life expectancy
&R o

(iv) All of the above
8] APl

( Turn Qver )



(9)

(h)

A9/769

(4)

Who has argued that globalization
carinot simply be understood as
westernization, it is a process which can
also increase cultural pluralism?

@I I w1eReR BA @, SHRRS CIePIe

o1 ¥ @fome ArvreRee J 3T, 2 R

g @@ dfFn e AP ITWM
YR /ORI ?
(i) Wallerstein
EACERA
(ii) Anthony Giddens
G o fATeTR
(iii) W. T. Ritzer
e, 5. Rbwms
(iv) Yogendra Singh
e B ,
In our country, child labour is actually
practiced in
AFES TR (716 Fra-2fEe INTI I A
(i) service sector in the formal
organizations
NG RIS CHI-ITS
formal productive .
SEPIAE TeATATTOrS
software units
software (5N6S
cottage industries

0 Srmere

(ii)
(iii)

(iv)

( Continueq
I

)
gl

G)

A9/769

(S)

Which among the: following is not an
essential characteristic of bureaucracy?

e SRRS QWG SRR AEEA
e W= 7 |
(i) Oral communication ’
R caereIs ’
(i) Division of labour
= Rerew
(iii) Written rules
forfRe fAaw
(iv) Impersonal relation

TS TTR

Who is the author of the book,
Annihilat_ipn of Caste?
Annihiiation of Caste %47 forgs @M ?
(i) L. Dumont
<. T
(i) R. Guha
e, 8%
(iii) B. R. Ambedkar
R, R, AT
(iv) T. N. Madan
5. @, =

( Turn Over)




2. Answer the following questions :
IR SPPTRY e fd
(@) Define nation.

(b)

(c)

(d)

(c)

(e)
TR o0 oA gy
' \
3. Write short notes on any four of the
D following : 5x4=2(,
woq R e SIRBR 5 GBr fort |
(a) Control of religion over society !
ST evige 41 g |
(b) Importance of child welfare :
Ry IR SF9
\
\
|
!
|
|
I

A9/769

(6) |

2x5=1(,

ST Figeat o |

What is the difference between caste
and casteism? ‘

IS e ST &I 147 [ 2

What is sustainable development?

T T R |
What are the features of modern |

society?

R e AR R =2

What do you mean by social inequality? |

Women’s reservation in Panchayati Raj
Institution
AETHS! IS IS T e

( Contmuedu

(d)

(e)

(7)

Impact of social media on education

frere IR MITT 2SR

Problems of ‘Treligious minorities’
‘¢S TRAETY I TEURAT

Meaning of women empowerment

wRer e S

Answer any four of the following questions :

10x4=40

oo 2pipRd R G SIReR e i

(@)

(b)

(c)

1 A9/769

“Secularism is a sub-process in
modernization.” Describe.
TR (R SIS Soretfimn 17
R 11

Define globalization. Write in detail the
merits and demerits of globalization in
India. -

CIAFIRFITR AR o141 | SRwS CIRfiea @
e TR IR )

What is national movement? Dlscuss
w1th sultable examples

SO ﬂlz qreT ﬁs') l@ﬂﬂ\@ Wcﬁ o
HIcee 90|

| ( Turn Over ) .
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(d) What is social media? Discuss about 2019
different types of social media.

Tt wgw [ Rfeas odeRe Imifes SOCIOLOGY
TGTAYZ, ST ¥ 1 - , ~ ( General )
(¢) What do you mean by communalism? Paper : 6.2
Write the characteristics of’ o
communalism. , ( Sociology of Gender )
A ?;E:{ L L Full Marks : 80
AremiiTorT CIFRPER fora |
- © Time : 3 hours
() What is subaltern? Critically discuss the e g
subaltern perspectives y s 3 The figures in the margin indicate full marks
fady o Bty qEed for the questions
ST 41 | { Answer either in English or in Assamese
(g) Discuss the government’s role in the 1 1. Answer the following as directed : 1x10=10
upliftment of the Indian society through @oTs frarcare ot Tes fa -
. different educational polifies. i {a) The book, The Second Sex is written by
e cege G Ries Sinfem wRwe The Second Sex TR JEITI G
THRON e RIP® 5T (el iR ; (i) Simone de Beauvoir
(h) What do you understand by civil society? L (iij Bina Agarwal
Discuss the role of civil societies in EIGIRCIREEIG]
formulating various public policies. ' (iii) Betty Friedan
: .~4+6= 1 l}‘ @ﬁ W
e e e & g2 Riew o vl (i) C.T. Mohanty
Cour W::w Mo S @ g v f5. . =8
| . .
HICAAT . z ( Choose the correct answer )
: * * ! - :
A9—1500/769 3 (Sem-6) SOC _ ( o Tech! iy Bfrear )
| A9/770 ( Turn Over )



(b)

(c)

(d)

(e)

A9/770

(2)

WRB stands for

WRB-@ ORI

. () Women Reservation Bill

(i) Women Restriction Bill

(iii) Women Representation Bill

(iv) None of the above
( Choose the correct answer )

( 2% Teach MR Sferean )

‘Towards Equality’ report was first
published in .
‘Towards Equality’ Reanbesr aaw oFtrs
) 1974 / $548 H©
(i) 1984 / Sov8 TS
(i) 1994 / $558 IO
(iv) 2004 / Y008 1O

( Choose the correct answer)

(% TeIch! AR e )

What do you understand by
masculinity?

cNeeg () I R 3o 2

When was The Hindu Marriage Act’

passed?
‘B Rarg s’ (ol R = ?

( Continuedl‘:

P
N

(9)

(h)

A9/770

(3)

Give one example of Women’s movement
in India. ‘

SRR AN T GO SareIel fa 1

What is sexual division of labour?

e Prest-Rewd R 92

The Hindu Widows’ Remarriage Act of
1856 legalised the remarriage of Hindus
of '

The Hindu Widows’ Remarriage Act,
1856-c8 wizAeRd &% TR WP
AR TF -y 1 TR Rowie

(i) Bengal
RIE]

(ii) High Castes
T SIS

‘(iii) All Castes

I SR

(iv) North India
o1 o] IRAPFIR

( Choose the correct answer )

(o= Texeh! AR Sfvrear )

( Turn Over)



@

0

A9/T70

(4)

Which among the following Acts made
the husband legally responsible for the
maintenance of his wife and children?

o (@FFRY Act-G TN HZAE (967 R
I o'~ (RN WG e AR 4T I 2
(i) The Hindu  Adoptions
Maintenance Act, 1956
(i) The Hindu Women’s Rights to
Property Act, 1937
(iiij) The Special Marriage Act, 1954
(iv) The Hindu Marriage Act
( Choose the correct answer )

(o= T30l AR Sferear )

and

Which among the following allowed

matrilineal as well as patrilineal
inheritance?
e oLl fArgas TeafieR ciIRktE oe ]

@Ry SR T I ?
() The Special Marriage Act, 1954
Hindu Law of Inheritance

(ii) The
(Amendment) Act, 1929
(iii) The Hindu Adoptions and

Maintenance Act, 1956
The Hindu Women’s Rights to

Property Act, 1937
( Choose the correct answer )

( & TSIl AR Sferea )

(i)

{ Continued

PRI =

j
|
l
!
|
1
1
!

-

2. Answer the following questions :

(5)

2x5=10

oo T ey e i

(@)

(b)

(c)

(@)

(e)

What do you understand by gender in
sociology?

Treregs forel o e & @ e

Name two leaders of Women’s

movements in India.

TS T SACHENI [ (O T 7411

Give two natures of gendering sociology.

foial 2 TIETEER o &S ot |

What do you understand by women
empowerment?

e AR I & @ e

Mention two legal initiative for the
upliftment of women in India.

SRee RER TSR IWI Yoo @[l ol

TR FrEeR Raw SEe 791
3. Write short notes on any four of the
following : ' 5x4=20
o R e SIRER ee[S 5 (B o
(a) Gender and Sex
faigar ol oI forst
A9/770 ( Turn Qver )



(6):

(b) Gender and Violence
Foizat e @ B

(c) Gender and Politics
et 259 W% IS

(d) Gender and Caste
el o o wIfS

(e) Chipko Movement
o e

() Problems of Women in North-East India
SHEY Teg- K] NReAFTFeT T

4. Answer any four of the following questions :

10x4=4Q

R 2R R e wifRtiR Bes o

(a) What is the significance of sociology of
gender?

ot oreae TETogY W & 2

(b) Write about the gender differences and
discrimination in family or household.

I RS 1 REE RS TS TR
a1 oot Caw Rca foran o

A9/770 ( Continueq l
!

\
i
|
|
1
|
|

‘l

4

(c)

(d)

(e)

(9)

A9—1500/770

(7)

Write a note on gender as a social
construct.

st o/ CxeR TR — <& R <6 Rl
ot

Discuss the changing traits of feminism
under the impact of globalization.

iR ofRefs akm foNRR @@
aeiie FRCR, AT 94 |

Write about the different perspectives
on gender.

ﬁ:ﬂm«ﬁ%ﬂwﬁmmi

Discuss briefly about the institution-
alization of Women’s Rights in India.

oRee e Wi wptdeeR Rea
ST S I |

Discuss caste as the factor in the
process of influencing class and
patriarchy.

wfedE FEAE it W FIeEE oIS
PR, A 41 1

* % %k

R e
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~ + 3 (Sem-6) ECO 1

2019
ECONOMICS
( Géneral )
Paper : 6.1

( International Economics ) -
Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following as ldlrected 1x10=10
woTe fRAAR e e Tea fw:

(a) What is income terms of trade? )

TR AR TS R 7

(b) Mention one item of invisible trade.

ST e ofb R SE

! (c) What is meant by one-side transfer?
IR B I B e -

;' A9/767 { Turn Over )




(d)

(e)

(9)

)

A9/767

(2)

What is disequilibrium of balance of
payments?

RO G SRRl 1 2

From which year, Iﬁtelfnational Monetary
Fund started functioning?

QT B o e qar AR PR
e 2 ‘

‘TO be a"member of World Bank, a

country must be a mefnber Of IMF.”
, (Write True or False)

‘R @R wen ate 9@ T e T
¥ srep 23 =R 1 '
' (o1 1 Ty fora)

Define excharigver rate.
R 233 v1ge o 1

Mentior; one assu mption of Ricardian
theory of international trade.

RICER wsifor e OF aft  sfSqrEen
T 0

( C""‘i"”eQII A9/767

|
!
|
u
=i

1

b

(i) What is balance of payments? . .-~ :
WP eeR el R ¢

() What does Current Account of balarice of
payments mean?
QR @R Tor sl Rt R @m 2

2. Answer the following questions : ... .. 2x5=10
weTs fian PP B fam -
(a) Distinguish between gross barter terms

(b)

(c)

(d)

(3)

of trade and commodity terms of trade.

P R e 58 o T qfien 69 I
Ml for |

What does balance of trade mean?
e ek B w2 o

Lr308

Mention any two functions of foreign
exchange market.

- P R @ R e g Seed

S F SRS N

A1

What are visible export and invisible
export?

TN I ST S I 7 2




(4) (S5

i i between internal
’ . : . (d) Point out differences
(e) gliztt 61; atci:co:ih?rg ;:Z?Rlcardo, the basis rade anid taternananal twads,
ation a
el e we SEEfes qfdwE TEe
qC ? %
R oo e e 39 s 9 el

() What are the main objectives of

3. Answer any four of the following questions : International Monetary Fund?

5x4=20
weTe Rl P R Gl BRER e i - wrFEitee a ffER dam Soemigz 6
(a) Distinguish between spot exchange rate () How df)F:s 'deval_uation help in correctmgg
and forward exchange rate disequilibrium in balance of payments:
T R 2w o wiw R e Te SR (FCUS Ened TOd CFae (]
ML fes | g SRSl 74 TS 37 R ?
(b) Why should balance of payments be
balanced?
CICIR CTCT STl R Ty 2'F &Ieal 2 4. Answer the following questions : 10%4=40
woTS fl 2pTRd Ted fidl
(c) Mention the characteristics of balance of
payments. (@) Discuss the nature and scope  of
R TR SR GRiEPRE Beae < | international economics.
wEEifer weAfer o W ofem fuc
TS 647 1
A9/767 ( Continued ) A9/767

{ Turn Ouver )




(b)

(c)

A9/767

(6)

Or / u&[l

Describe the Ricardian theory of

international trade.

WWWW?WW|

Write briefly about the structure of
balance of payments.

QR @R Fer Sufe R sxes o |
Or / =%l

Explain  the different types of
disequilibrium in balance of payments.

QO R TR STURNeR R
APRERR 361 341 | S

Discuss different types of terms of trade.
e 563 RiSH A1 SCEbAT F411

Or / &<{1
Explain the 'concepts of fixed exchange
rate and flexible exchange rate.

&R Rt 9 we “ResTe Rt g 87
w6 3 0

( Continued )

(7))

(d) Describe the functions of World Bank.
Ry @t IRRA 3 911

Or / [

What do you mean by demand for and
supply of foreign exchange? How do
‘they help in determining equilibrium
exchange rate?

@t Rifmw ur oitn s o= gfera &
@ e s R 21 Rfras @t
ARF PR ?

* %k &

Ao—
15*/767 3 (Sem-6) ECO 1




3 (Sem-6) ECO 2

2019

ECONOMICS
( General )

Paper : 6.2

( Planning and Development in India )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following : 1x10=10
v fRaaRe Bed i :

(@) What is democratic planning?

TTIFR e &2

(b) When was the NITI Aayog’ of India
constituted?

ST “NITI Scas’ (1 137 a1 ¢2fdet 2

A9/768 ( Turn Over )



(c)

(@)

(e)

(9)

L)

(i)

0)

A9/768

(2)

What is the main aim of Import
Substitution Policy of India?

SrRed S Res ST 130 Bowg R 2

Define the term ‘economic globalization’.
QAR TARFI’ el T o

Give one argument for favour of
privatization of Indian industries. .

TR TR @m@««aﬂm@hqf@
faam

What do you‘mean by SGSY?

SGSY A & @ ?

Is India a mixed economy? Give one
-argument:

SRS g3 g WA o7 T 2 961 IR fr |

Mention one objective of ‘Act East Policy’.
‘R T FRY 1 Broe D TCEd 901

Write the full form of NEEPCO. -
NEEPCO- < F#ieo1 foran |

Write one important cause of slow
economic growth of India.

mewmmmquq
feran 1

( Continued )

(3)

2. Answer the following questions : 2x5=10
Soe fral T Ted famn

(a) Mention any two sources of resource
mobilization of India’s Five-Year Plans.

SR HRE RIFTTEHR & @ |/

I 01 SR I TrEy 401

() Give two arguments in favour of
economic reforms in India.

SRed FYARST PRI FACF Kol IR 7oy |

(c) Write two objectives of MGNREGA.
MGNREGA-3 151 Sty forn |

(d) Mention two functions of Planning
Commission

“IfRTH ST oI IR BCHY 797 |

() Why is the economic growth rate of
Assam slower than all India average?
Give two arguments.

TN HARSE THAER TR ORI e Tmyw
ZReLF I 79 2 1o I e o

( Turn Over )



(4)

: 3. -‘Answer any four of the following questions :

Sx4=20

weTe i 2hcaRE R I SIRGR Tee fian -

‘@

(b)

()

d

(e)

‘Discuss the achievements of NEC.

TeI-o[ “IRAWT STFTOPTR AT 3147 |

Is there any need of foreign investment in
the context of policy of economic self-
sufficiency of India? Give reasons.

SR WA SRS orer M “Reeifiros
o RiNGR @R aem iR #Iewe 2
FRPHR Trag 740

Distinguish between centralized and
decentralized planning.

TGS W ReFRgs ARFENR N1 74 |

Analyze the salient features of India’s
Five-Year plan.

SRS %ARE ARFEIR J0 IFBPEE 3o
I

“The Five-Year Plan of Assam is a carbon
copy of Indian Five-Year plan.” Do you
support this view? Give arguments.

T e ARIEA A SRe AR
ARTET 0T TR AR 1 TR B Sl
FAA 7 IS o |

0

4. Answer the following questions :

(S)

Explain the various features of
decentralized planning of Assam.

e Ree@gs RIseR Rfss @figpmz

AT FA0

wers il PR oe fi

(a)

How are the strategies and goals of
economic planning in India changed in
the post-liberalization period? Explain.

TIRAIFAR RTS8 S SRSy AT
ARTTAI P AF APR (g R
o=, A T

Or / 9«

Describe the achievements and failures
of Indian planning during post-
liberalization period.

ORE TIRAPITN *RTS SRS RETAR
STEerel Wi REFerersR 369 9 |

10x4=40

A
A9/768 ( Continued ) 9/768 { Turm Over )




(b)

(c)

(6)

Examine the role of Foreign Direct
Investment during the reform period of
India.

WWWFWWMW
RffcmR g = w101

Or / &[Tl
Discuss the present composition of

foreign trade of India.

Aefos IR SRed (A AR A6
HICATSAT 41 |

Describe various achievements and
failures of decentralized planning of
India.

SHe Rriige ofRes Rfea sweor o<
Reerormg 771 41 |

Or / {1

(?ive the arguments in favour of
hbe_rahzation of industrial sector in
Indian economy.

SR WA Srmrr eq SRR AT
& 3Ty o

(7)

(d) Explain five important poverty alleviation

programmes implemented by the
Government of India during recent times.

ArefdF TNRAS ©NES HIPRI  FW I
63 T 7! [R1Fe ol I 0
Or / <[l

What do you mean by poverty lim;:?
Explain various causes of poverty in
India.

REOR N T B T2 SRS RO
Rfea TP I 340 |

* % Kk

A9/768 ( Continued )

B
|
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3 (Sem-6) PHL 1

2019

PHILOSOPHY
( General )

Paper : 6.1

| ( Ethics—I )

Full Marks : 80
Time : 3 hours

‘ The figures in the margin indicate full marks
} for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10

|

|

| woTe AT PCHITa TeT fian -

, (a) The ideal of Ethics is truth / beauty /
il goodness.

( Choose the correct answer )
MMRerr o TF T / g / B A
PelfI |
, (o T AW Sferear )

A9/828 ( Turn Over )



(b)

(c)

(d)

(e)

1

(g

A9/828

(2)

What is the meaning of the term ‘Ethics’?

‘Ethics’ *%9 94 {$ 2

Who is the advocate of Refined Altruistic
Hedonism?

RIS R 21SF < 2

What is the meaning of ‘Value’?

T3 5 5 9

Is Hedonism a teleological ethical theory?

IR BT SR (TS T T 2

Kant’s moral theory is found in pure reason
/ practical reason.

( Choose the correct answer )

T 7% Toqw Reym RoR e [/ araRe
om *fes copmay 37y |

(o Teachr A1fe Sferear )
What  is the meaning of the term
‘Lokasamgraha’?
‘IR’ e f 9
( Continued )

(3)

(h) Give an example of Intrinsic Value.

FOIPTR 901 TR oy |

(i) Brahmana, Kshatriya, Vaishya and Shudras
are called the _

( Fill in the blank )

Frd, W@, @0 wF wE [ @[
2 |

( 2fet 312 o ¥y )

(/) According to the Hedonism, pleasure is the
supreme end of life. Is it true?

WR/M WS 4 (R AFAEE B oy
FYER SO ?

2. Answer the following questions very briefly :

ZXS-._.-IQ
To PR OIS 59 T fra

(a) What is Deontological Ethics?

TS (Ao Toqm fF 2

(b) What are the postulates of Morality?
e Rl Toprz & &2

A9/828 (Turn Ope, )



(4) )

(c) Write the thrée ultimate values of life. Or /3133
Qe 1= 10 R R R0 Distinguish between Psychological and

o Ethical Hedonism.

(d) Define Ethics. ! TAIRRE TRM AF S AR Ao
. AR i o | | o2 Ay w1 1

LIRS
R

(e) - What is Varna Dharma? |

(c) Explain the utility of studying Ethics.
o I @I 2
MR SR Serafirer amor 3 |
3. _Give answers in short : . 5x4=20 Or / 3T
|
59 Seq fin - : Distinguish between Fact and Value.
(a) "What "do you mean by Paradox of T S S W <A<l ety <o
Hedonism? |
1 .ﬁm o7 ﬂ'” Iﬁs T2 _ (d) Explain Kant’s “Duty for duty’s sake”.
Or /3T % IR IR FE” U 97
What are the characteristics of Moral 1
Judgement? Or/
o Romm fiEpmz R R 2 What are the salient features of
Utilitarianism?
(b) Write a short note on Karmayoga of BoRAMAORTR o1 CARBIAR s e 2
the Gita.
“Mer'T TR e B Gt ey |
A9/828 ( Continued ) A9/828 ( Turn Over )




4.

A9/828

(6 )

A\J

What is Hedonism? What are its different kinds?
Explain briefly. 2+8=10

T 52 TR RRA e B B2 s
=

| Or /5
Explain J. S. Mill’s theory of Utilitarianism. 10
(5. 5. R Sorfrerm Femesr M 4 |

What is Moral Philosophy? Explain the nature of
Moral Philosophy. 2+8=10

GRF o I QE? R TR 2l AT
T/ 40

Or / 71%31
What is Teleological Ethics? Explain its different
characteristics. 2+8=10

Wﬁ%ﬁmwm?mm

39 F]q

Explain Kant’s Rationalism. Is it satisfactory?
6+4=10

IR Rorams Reaw wmm w1 % TSI
IREAS A ?

( Continued )

A9—22*/828

1.4

(7))

Or / 1%
Explain Intrinsic and Extrinsic Value. 10

FoeN F SR Raey foran |

what do you mean by Nishkama Karma? Is
Nishkama Karma practicable in day-to-day life?
6+4=10

g ¥ VA B @ ofm e fem w0
oA 2 ?

Or / F%1

What is Ashrama Dharma? What are its different
kinds? Explain. 4+6=10
e 4 F1E QA 7 R (FRAFRT ? IR F90

* % Xk
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2019

i PHILOSOPHY
( General )
' Paper : 6.2

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

Answer the following as directed : 1x10=10
wete TR ot PR Tes i

“philosophy of religion is a second-order
activity.” Who said this statement?

“ofpf A TSR T G afem i @3
e 9192
(b) “A philosophy of religion without history

is empty, a history of religion without
philosophy is blind.” Who said this

(a)

statement?
oA e TS WF ARE T
fezpt v 17 a3 SfEaR I 2

A9/771 { Turn Over )



B T T

\)

()

(d)

(e)

(9

)

A9/771

(2)

Who is the founder of Animism?
SRR oS (I 2

Who is the author of the book, Totem
and Taboo?

Totem and Taboo &I fo1dF &I+ 2

Who, at first, discovered the term
‘Mana’?
‘Mana’ *%0!] ALY (@I NRER IfRfRe 2

‘Taboo’ is a Latin / Greek / Polynesian

term.
(Choose the correct answer)

“Taboo’ 2’5 cEifow / M / ifecAfRa= == |
(% Tech1 e Bferear)

Who said that the magic is prior to
religion? -
T, o3 T8 o e (e ?

“God is a being than which nothing
greater can be conceived.” Who is the
propounder of this view?

g T G T TSl TR PTG JTeT T
@Al ¢RI IR ARIR 7 @R TSF 2R
N ?

( Continued )

(3)

() Who is the founder of Cosmological
Argument?

RuregrE o 278 @M 2

() Who offered the Analogy of Watch?
TOR B! (RIC WG 2

2. Answer the following questions in brief :
2x5=10

ke P o s fra
(@) Write and explain the etymological
meaning of the word Religion’.

Religion’ *RR Jeoifers wef &R aman
41 |

(b) Write two differences between Religion
and Philosophy.

{ SF AR TS 3 Yo1 AN oy |

(c) What do you mean by ‘Mana’
‘S e R qm e

A9/7T71 ( Turn Over )



(4) | (5)
(d) What is the Teleological Argument for _ (c) DiS.til.'lguiSh between Magic and
proving the existence of God? Ie Religion.
: o SIF A3 A& 21203 ey a7 |

FRY W% AN I SORCEE SRS
IR & 9 (d) 1s Fetishism a satisfactory theory of the

origin of religion? Explain.

(e) Name two supporters of the Ontological TEERM 1 BeoAfS 9Py TgReTe Todm

Argument for proving the existence of QAT T
God. (e) Is Totemism the earliest form of
Y O AR A WERERl SIGS religion? Explain.
IR Tom g AW ford | GIBRM &1 STy w9 T 2 AT I |
N Is religious experience an illusion?
3. Answer any Jour of the following questions : Explain.
o o e 5x4=20 (S AT IF A ASFH 7 Y 3]0 |
O] AR R @ren siGR :
9 (a) How is religion different from science? 4. (a) Eluc'i date the nature of philosophy of
Explain religion- 10
(el T AR ef e |
o R o[ e o2 2 00 40
Or/ %11
(b) What is the real nature of the word (b) Define R.eli.gi on. What are the chief
Religion’ according to John Hick? characteristics of religion? Explain. 10
o B TS e ol R 2 ofs e fan 1 ofa qqm cafiEpEz & R2
g ' M 4 |

A9/771 ( Continued ) A9/771 ( Turn Over )




5. ()

(b)

6. (a)

—_ ™

7. (q)

A9/ 771

(6)

What is philosophy of religion? Explain
the relation of philosophy of religion to
philosophy. 4+6=10

gt Ieica & @2 wfrfa Aors v sTaE
R 0
Or/ 341

State and explain the important features
of religion. 10

iy ey WREPTR S IR T

Explain Animism as a theory régarding
the origin of religion. 10

4afq Beotfs sTorPh e TeAmCHr R I |
Or/s33r

Explain the role played by the
psychological views with regard to the
origin and development of religion.. 10

Gy Tofe o Rerm swde WIS
TSAYER SRR 11 70 4

Explain and examine the Ontological
Argument for the existence of God. 10

P ORYe-REe ifee IRl I e
2] 91

( Continued )

|
|
!
|
i
|
}

A9—22% /771

(7))

Or/S3q1

(b) Explain critically the Cosmological

Argument for the existence of God. 10
. SRy-Res  Rrogee  Iom

AACATGAPTR A A |

* X Xk
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2019
SANSKRIT- _
( General ) L
Paper : 6.1
Full Marks:80 7/ W
Time : 3 hours |

The figures in the matgin indicate full Hérks
for the questions S

1. Answer the following questions : ~1x10=10

vty

TR 2PCAIRS Seg fuan

(a) Mention one speciality of writing of Dandin.
w&lY AT qor CafEs a1

(b) Name a writer of Sanskrit prose other than
Dandin.

1

wS AT AR G& TTEFO M GRF AN
%NII . O

{c) Who is Candavarma? ._

veTl TN 2

A9/616 ( Turn Over )
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(d)

(e)

1)

(g)

(h)

(i)

G

A9/616

(2)

What is the mountain on which Darpasara
was practising religious austerities?

%fTIT M oS worh Ffifee 2

Who is the king of Campa?
5ol ORI T Y

Who is gﬂﬁﬁ" .

TG (T 2

-Who is called as:‘Abalaratna’?

RERE I T o =2
There are 10/12 Chapters in the
Sahityadarpana.

( Choose the correct answer )
SIS S0 7 S3BT SLE =R |
(o e 1M Cfeve )

What are the two main divisions of Alarmkara’

as found in the Sahityadarpana? '
ARERAS I PR SR 1131 A4
e & 2

What kind of a book is the Szhityadarpana?
AEema’ R 2T 272 '

{ Continued )

2. Answer the following questions :

(3)

TEY PR e faa

(a)

(b)

(c)

(d)

(e)

- A9/616 -

““gRyd, SEIRRY ¥ Sfar e
Who is the speaker here? By whom the
speaker has been favoured?

TS IS (M ? a@ﬁw?’nquﬁr@m
=7 ? :

Write equivalent Sanskrit words of the
following :

Wﬁﬂmmw%wﬁm
AT ; YIEE|
‘IR T el

Who is referred to by ‘9%’ here" What was
the duration of the ‘IMT’?

T T o I LR CWR? 'Y T AW
1fRe 2 B

Mention two features of the character of
Candavarma.

BQWW@WWWI

Define oI,
AR FTHeET o 1

~ 2x5=10

( Turn Over )



(-4)
3. Write what you know :about @ 5
ReNERI Raw & &, B
4. Translate any one of the following : 5
God R Il TR SR 4
(2) T T TPIRE FAGHEIRITRORGM-
| i TegEeITE OGO | ST T
i “friaq TRfTRETRRRaT ThaveATTE Tl |
! (b)) IR RgrgeR yaoan . fRanreraf T-
! ToETEd TaRed  AReRERRTRRysafifa
| AEAT TR W WNgSId | gfeYd ¥4 A
wgafagai: T '
S. Show your acquaintance with Sanskrit prose
llterature _ 10
’f”’?@ TR ﬁm = =, ﬁm I
-Or/ o[
3 Write the summary of your prescribed text of the
Dasakumaracanta
RIS’ (oM AT w"tﬁﬁ W"ﬂ% fora |
6. Answer any:two of~thezfollo§mng~ : 10x2=20
o f T Yo T o _
(a) Write a note on the ST WR -
Goml SeTERT e «fb Brt ra |
. A9/616 ( Continued )

A9/616

L

.(5)

(b) Distinguish between the figures T dnd
faztem.
2R T el SRR o BT

(c) Explain T with apt example 7
TR TR oA SRS a=f=n ]I

(d) Define M= and show:its divisions.

BT EHIRS F{%W%I forr e WR
Rergz myean

7. Define and illustrate (any one) : o 5
TurRerTz e o (R e ait) ¢
IATT ; ARG ; g o
L ;‘1,4

8. Determine and discuss the figure of speech in the
following verses (any one).: 5 -:. . - .. - S

O] IS AT (R SETSRCGl e ¥ WE
e 11 (R e adt) : -

(a) aT g
‘aﬁiﬁ@@w' maamﬁn

® aﬁﬁﬂwsﬁﬁaﬁwq}ﬁﬁql ';_3.
IIUT[ ﬁ m‘V i .

( Turn Over )



(6) (7))

9. Elucidate the idea contained in the following  (b) wE: & ffeen Rig ] Sh:?
verse : 10

o (RO ST et : (c) ¥aw: Rig: e & g
ﬁmmwmﬂa:mgwa (d) Tw™EE SR R arhiq?
- e i 7 gE e e 7| e
o e v e (e) To: Rigw feeaiaq?,
fora Trorg Tod 1 f o frenfdi: w1

Or / w31

* &k

Read the following passage and answer the
questions :

- R SRS “Mff A T o :

I[ w@mgﬁmﬁzzlwwﬁ:ﬁﬁﬁmm
- I TTeT S — ¢ “Refirf v 99 T 3R T
; TR e G oaTen: | RRA— Al
— TG’ Tl IR TR g | iR @ 9 9o
gud: iz oe—ad RAearrreft”’ W
SAA— ‘0 e Rig: At g o WY RO
AT FA IR 1 RRAre— @’ @M F W g
fRefar” R v o gwer wilt e oo Riga
sfafawe gFTamT | 31 el Rig: e Pt weet gme: |

(a) Rige am fp? q:gﬁrﬁwﬁ?

Conti
Ad/616 (Continued) — po_ 20007616 3 (Sem-6) SAN 1
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2019

SANSKRIT
( General )

Paper : 6.2

Full Marks : 80

Time : 3 hours

The figures in the margin indicate ﬁzll. marks

for the questions

1. Answer the following questions : 1x10=10
TR 2R TR il

(a)

(b)

(c)

A9/617

Name the prose-work written by Banabhatta
other than Kadambari.

FRY AT A™E T e WA
ATIRII ™ fordi |
What is the principal sentiment of

Kadambari, the prose-work of Banabhatta?

JrSHI TR IR IR

Fill up the gap :
ﬁﬁﬁ"ﬁ‘f?ﬁﬁ:
™ et =S

{ Turn Over )



(2)

(d) What is the principal sentiment of ‘“TTHIENT’?

(M

- 4

o)

A9/617

TETEwETT 31 1 2

(e) What was the name of the WIR®T found in

the “TEeT?
LIRS (oIl ARPrEarg w1 & =1Re 2

What was the name of the mother of ITHIETT?
IFRER VY AN & H1fe 2

(g) Who was &=

TP (I 1R 9

(h) How many Cantos are there in the

Kumarasambhavam?

TIPS Rwrei51 79f WACZ ?

Write another name of % as you find in the
Kumarasambhavam,

PIFI(S MR oopiR W 0 oft A
fordt 1

Who is $EIIH:?
TEYY 2

( Continued )

(3)

2. Answer the following questions : 2x5=10

- R ZPPTYR e fdi
(a) Write equivalent Sanskrit terms for the

following two words :

ToTe fal * RO SMLF A=FS 21 oy
Fformy ; femm: |

(b) Mention two features of ‘TARUREY’ as a
Mahakavya.

TR RO FAPTSIT o1 Ly S

(c) Complete the following Verse :

woro fran carefb s 3
T SR FgHTsy weris ayde oo |

) g Rl g A

Who is the speaker here? To whom it was
said and what was his job?

3NNSW@W$IGﬂﬂ”?ﬂﬁﬁ”ﬂ$(¢ﬁl@¥§@W¥
ST I ¥ 2

A9/617 ( Turn Over )



(4)

(e) ‘TR O AT WISFTgUeITARL I’

Name the speaker here. Who, according to
him, is fit to take advice?

e IS AN B2 (087 W, Toiom TR
T Q@9 @ 2

3. Explain any one of the following : S

Toig R @I GBR 1 T ¢

(a) SIS R A SRR SREen
ﬁ?ﬁg@#aﬁ:@ﬂ:tmm
TEGIWTAN HAvTied T |

(b) Wam:wmwﬁﬁmﬁwﬁ
Iz wg@lﬁwrﬁwﬁawﬁwé@l

4. Attempt any two of the following questions :

10%x2=20
o e R @ P e fordi
(a) Explain the following statement :
worg SRR g 9 ¢
“qronfese Tead I’
A9/617 ( Continued )

(S)

(b) Prepare a description of ‘1" as you find-in .
the Kadambari.

‘IS M ¥ANE ‘a@’aﬁmaﬁh‘fm
SISRCTH] |

(c) Present a note on the advice of YFTH given

to IS,

N oS I i BoorR evEe «fb
Coret Borgrom 41 |

§. Translate the following passage : S
o] FAMRM Seam 34
T TGN R, RAwseiRe TR
fify-gwif=:, TaeRT g, RivRe fwmeds-
T, yaRafrgfiaiof

6. Estimate §9-Y as a prose-writer. 10
T RBoI R «ft Jommm 4
Or / 9

Present in your own words the incidents leading
to the transformation of Vasavadatta into stone-

image.
‘IPTRTE! 2T JEL oA (YA AR W=AKH! (OIS
e s Sergiom w4

A9/617 ( Turn Over )



(6) (7)
7. Quote from memory any one verse from the Third . Or / 9% d1 .
Canto of the Kumarasambhavam which does not

Give a description of untimely sprihg season
as found in the Third Canto of the
<R 2 FFTS AR FAPTIT PN 7o’ e Kumarasambhavam.

o care g Frd SRS PO 55 (1 i STt 78 9gd ift
efar faai o

exist in this question paper. S

8. Explain any one of the following : S * &

oo R e «fS 3rm =47

(a) FARTERFEY A g |
FRE 35 feqify RedieaeET @ 99%: 1l

(b) AEF TR el FeEmRoT NG 9 |
TN RET ST TR TR |l

9. Present a description of Lord Siva in meditation
from your prescribed text of the Kumara-
sambhavam. » 10
(ORI ARFTS 491 FAPIY IS S| o1
g FRT «ft 31 Somem 34 |

Conti |
A9/617 (Continued) — — \o 2600/617 3 (Sem—6) SAN 2
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3 (Sem-6) PSY 1

2019

PSYCHOLOGY
( General )

Paper : 6.1
( Applied Psychology )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions as
directed : 1x10=10

wore Al 2R ot See faan

(a) Positive stress is also known as
( Fill in the blank )

TS oo Jfers wm I
( e 31 st 71 )

A9/626 { Turn Over)



(b)

()

(d)

(e)

A9/626

(2)

Write any one important conditions to
work in an industry.

ool GBre I IRIE AN B @A @B
ey wrER R forn

Write one importance of

advertisement.

R a1 gFeR R forn

Questionnaire method is one of the
important methods of job analysis.
( State True or False )

PR oS (xR I R @1 ewgeyf
TS |
(o7 AT SR foy )

Name one kind of advertisement.

Q@I 99 4993 R I ot |

Individual differences take place due
to

( Fill in the blank )

JE ML _____ IRTS 7 |
( =fer % =7 % )

( Continued )

(9)

(h)

()

G)

A9/626

(3)

Name any one changes takes place in

one’s cognitive functions during
stress.

TR PRCT (P IR @S czr
CIIC 9B1 AfRTET] 1 By o

Directive
advocated.

counselling was

( Fill in the blank )

S R e e |
(=rfer 31 ==t 1 )

Name one counselling approach.

QI *afSq GBI W By |

and environment are the
principle factors that cause individual
difference.

( Fill in the blank )

_ F AR 29 I nefn s
qAS 1 ‘

(et 3% ot v )

( Turn Over )



(4) (S)
|
i
2. Answer the following questions : 2x5=10 (b)) What conclusions are necessary to
o PR Ted o | make advertisement attractive?
. . | RErm @ IR @FERR SRER
(a) What is advertisement? | 0

R 2 (c) Explain the important functions of a
(b) Mention two sources of stress. ‘ counsellor.
B 51 BT BEe 3 | o PREfToR gl IR Recn
911
(c) What is the purpose of job analysis? ‘ (d) What are the a dvantages of job
s Reser S &2 analysis?
(d) Write two chief objectives of a \‘ I R Rz & 2
counsellor. (e) Discuss the various stages of
e SISO 1 7 SR R B | | selecting personnel for a JOb
. | a5 R I I PR B TR
() What do you mean by job TG <57 |
satisfaction?
S 7= e B @ 2 : 4. Answer any four from the following
. questions : 10%x4=40
3. Answer the following questions : 5x4=20 wore T R @i sif6t o] Twy o -
ST PR T foran

(¢) What do you mean by industrial
(a) Explain the causes of stress. psychology? Write the problems
which fall under the domain of

B1o) BRI 390 i industrial psychology.

A9/626 ( Continued )
! : A9/626 ( Turn Over )




A9/626

(6)

e weaRem e & g2 P weiRerss
ot® o1 TPIrER o o

(b) What is stress? Discuss its effect on
psychological functioning of an
individual.

519 2 eI fFaeee TR e
HICEASA T |

(¢) Enumerate various factors that may
lead to job satisfaction.

s = st RS ez 3 41 |

(d) Discuss some of the important types
of counselling.

WP gegf TR BN
HICEADA! 391 |

() What do you understand by ‘burn
out’? Describe the GAS model with
the help of an example. :-

Qe weE a2 @B S
TS GAS TCTECH! I 4 |

( Continued ) A9—1000/626

(7))

(/) Why is counselling required in an
educational institution? Discuss in
detail.

7 @37 OIS SRS ~REPIe ACTee ?
eI sl 47 |

(g9 What are the  utilities of
advertisement?

Rz Soraferr & 2

(h) How do individuals differ from one
another? What is the significance of
these differences in an organization?

aw IfE G o[ R g W @O
e R IR aFg 2

* Kk
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ELECTIVE NEPALI
Paper : 6.1

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks

Jfor the questions

1. s Rydy : 1x10=10

(%)
(®)
(m
(=)
(=)
)
(®)
(%)
(%)
&)

' A9/804

ICEREE AEE B GI?

TRl THIHh HI FHh Hied-qRaT @17
w T ¥ A
TAKEERH Ze N AGTR |
FIIE F AEER A7

U = §IF

TR W IR Ry

! P TH WG AEgeH)

AeH F-H HT AT

g Eeged ReA e & whee?

( Turn Over )



(2) | (3)

2. DR SN AETEY : 2%x4=10 (3) @ % & 1 f 5 yoR go? e [ |
(%) wiegTE Sers TRs? (I) FE-wEeE weram e @ffa feresa
(@) w=uRs-armia wfiren #e §97 ' ==t TR

(1) TR T e TR KRR () v T e e e

(F) wF-GEu sHn & 87
* k&
3. &I W Rgdy (FA TR : 5x4=20
(). STTEE 3 g wE aRAT SEgel |
(@) = Wi % @7 SeEwEiRa SRR |
(1) T gy e PR AR
feger ) |
() R g wer-SAe ) Eo |
(3) w0 SR Thea Rged! [
4. T W vER T R - 10x4=40
(%) wdlg sadeeg &9 e S -
sformeTeER aian el .
(@) s W & @y a@ e o |
U TR |
(M) Dy R g |
(4) 9 §&T TEE h-h G

( Continued )
A9/804 ‘ A9—1000/804 3 (Sem-6) NEP L 1
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2019

ELECTIVE NEPALI
Paper : 6.2

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks

Jor the questions

1. SW 49 : | | 1x10=10
(F) FoRE T TS B g?

(@)

(m

(=)
.(@)
)]

. (®)
()
(%)
=

- A9/805

\

‘FEGAHI SI-BT’ IUAMH IFATEHR B g7
R gREd W

feft ; Sremfe) -
e f-ori o wiRf R % a7
TR - TG RS wgiare wew RE?

TR WH T W et IrmmE am
ag |

Hfade! 1 TH ITGTGH T QG|
eI Fid THRH oL _
AATFT TR A T G ARHEH T A
FHRRDH T T I IH|
( Turn Over )



2. G I T :

(2)

(@) SEH P g T W T

)
("

=)

@).

3. F R TSR SW 9 :

a9 WS W F A7

mmgﬁgqﬁéﬁmﬂmﬁaﬁ
FIFHRSH! 71 G|

wom g Joel FUER B OFL T I
YR F GG T & A

Jureht fiey w34 § T80 TS
PR Tm @) :

5x4=20

(%) 3manﬁm16mmﬁm§:mﬂéiﬂwa‘“ﬁn'%a'
(@) fm TR F @7 R w0 T FILT

)
=)
(3
V)

F-F §? Rl dd!

p e g— — Al

v g g g wwaR @ T
aﬁ%symaﬁiaqnunﬁﬁitﬁ@“'qkaa.%a' 4
ol e sy fagaen G0 T g

RI )
10x4=40

4. F IR T EOn W /G ¢ -
(%) R ueh s QRETE

I .

@) e TeEeR) g FE

" A9/805

( Continued )

2x5=10

()

()

()

)

(®)
()

A9—1000/805

(3)

TR ek WA TEFW GHR IFFEHER
BARA TR

qgiyER T Faraers yghen sawd
R

AR W I WTUTR YsEE® MW Al
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